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Demonstrate understanding of strategic
response to external factors by a
business that operates in a global
context.

Demonstrate in-depth understanding of
strategic response to external factors
by a business that operates in a global
context.

Demonstrate comprehensive
understanding of strategic response
to external factors by a business that
operates in a global context.
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top of this page.

There is ONE task in this booklet. You should attempt ALL parts of the task.
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Use the background information below, the supplementary information in the other boxes, and your  jassessors
business khowledge to complete this task. ' . JosEony

| Toroa Air is a “no-frills” (budget) domestic airline
which has rapidly expanded from local tourist
flights to scheduled services between the larger
cities in New Zealand. It has increased its share of
the New Zealand domestic flight market, as
customers like its strong New Zealand cultural
values. Financial institutions have been willing to

invest to fund the recent growth of Toroa Air, due to its strong leadership.

However, Flying Koala Airways, an Australian airline, has just announced that it will
look to expand into the New Zealand market and apply for routes that will put it into
direct competition with Toroa Afr.

Image source: https://ih3. googleusercontmt com/-hy8V8]zukx8/TY5_gYizpOl/AAAAAAAAFIU/UxmUE ‘0d-
z5k/s1600/a319 jpg |

(a) Evaluate a strategic response that Toroa Air could take to respond to the eniry of Flying

Koala Airways into its domestic market.

in your answer:

. state the strategic response and explain why this is a business-wide reaction at multiple
levels (at least TWO of size, scope, and timeframe)

. fully explain ONE positive impact and ONE hegative impact on Toroa Air of the
strategic response

. provide a justified conclusion, including any new information, as to the likely success of
the strategic response.
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Toroa Air has gained in financtal strength from its rapid
domestic growth, and is now looking to expand
globally. Market research has shown that people of
indian descent represent one of the fastest-growing
ethnic groups in New Zealand. Itis predicted that
demand for flights to and from India will increase as
these people travel to visit family. The New Zealand
Government is negotiating a free trade agreement with
India. Tn addition, there are currently no direct flights from New Zealand to India. Toroa
Air has seen an opporfunity to become an international airline by providing flights to
New Delhi, the capital city of India. Itis now secking business support for its expansion

plans.

|_Image source {adapted): htps://en.wikipedia.or o /wiki/File:New_Zealand_India_Locator.svg

(o)  Fully explain ONE example of business support provided by a government or non-
government agency that might benefit Toroa Air with its plans to expand by introducing flights

to lndia.

In your answer’,
. identify an agency and expiain the type of support it provides
. fully explain the impact this may have on Toroa Airs expansion plans.
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Environmentally conscious consumers expect airlines to
operate in a more sustainable manner. According to a
recent report, airlines around the world produce more than
3.15 million tonnes of cabin waste {used paper cups, plates,
and packaging) each year. Senior managers at Toroa Air
have decided they will demonstrate rangatiratanga in this

area, and will work with specific stakeholders — suppliers, customers, and employees -

. to reduce their environmental impact.

Image source: www.shutterstock.com

Maori concept definition

Rangatiratanga: Exercise of leadership, authority, guardianship, and ownership
rights; particularly focused on resource production, utilisation, and management for
current and future requirements. This includes strategic development and oversight,
relationship development and maintenance, problem-solving, conflict resolution and
peace-making, adaptation, risk analysis, and management.

Source: hitp://seniorsecondary.tki.org.nz/Social-sciences/Business-studies/Maori-business/Culture-and-
valuesiRangatiratanga

()  Fully explain why it is important for senior managers to demonstrate rangatiratanga in
tackling the issue of aircraft cabin waste.
In your answer, refer to:
. how management at Toroa Air could demonstrate rangatiratanga in tackling the waste
issue
. the consequences for Toroa Air's relationships with its stakeholders of demonstrating
rangatiratanga.
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Like all airlines, Toroa Air is quickly affected by changes in the price of fuel, as this cost i
takes up to 30% of operating revenue.

Currently, the leadership tcam is very worried about political unrest in the Middle East,
especially the large oil producers like Iraq and Syria. This may push up the price of oil
across the world, and therefore increase fuel costs for the airline, which would seriously
undermine the company’s low-cost strategy.

(d) Evaluate a strategic response that Toroa Air could take to respond to rising fuel prices
worldwide, caused by political unrest in the Middle East.

In your answer:

. state the strategic response, and explain why this is a business-wide reaction at
multiple levels (at least TWO of size, scope, and timeframe)

. fully expiain ONE positive impact and ONE negative impact on Toroa Air of the
strategic response

provide a justified conclusion, including any new information, as to the likely success of
the strategic response.
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Extra space if required.
Write the gquestion number(s) if applicable.
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Excellence exemplar for 91380 — 2016 Grade Score: E7

Question
part

Annotation

To be awarded Excellence, a candidate must demonstrate the ability to
evaluate strategic response to external factors. This skill is assessed in
parts (a) and (d).

The candidate has offered a diversification strategy, suggesting the
airline open new domestic routes.

e This is explained (“what” and “why”) as a business-wide reaction in
terms of scope — staff are impacted.

e The positive impact is fully explained — more people will fly with
them (“what”), and more routes will increase brand exposure
(“why”), which will increase revenue and profits, allowing future
expansion (“how”).

e The negative impact is explained only — the airline will be in debt
and limited financially (“what”), as they must purchase planes
(“why”). To be fully explained, the candidate would have to say how
the business would be affected, using correct business language.

e The conclusion was at Excellence level, because the candidate
introduces new, related information from the context — the funding
should not be an issue, because financial institutions are willing to
invest, which will allow the funding of new planes. The rest of the
conclusion merely builds on the strategy.

The candidate has provided a strategic response, looked at the positive
and negative impacts, and concluded why it will be effective. The
conclusion demonstrated a comprehensive understanding. Even though
the negative impact is only explained, the response is at Excellence
level overall.

The candidate has suggested the business rebrands to allow it to
increase ticket prices.

e The strategic nature has been explained in relation to how staff will
be involved.

e The positive impact has been fully explained, more people will fly
with them (“‘what”) because they have a more customer- focused
reputation (“why”), and this will increase sales revenue to cover the
increased fuel costs (“how”).

e The negative impact has also been fully explained — costs will rise
(“what”) in providing a better service (“why”), which means that the
business will require cash or an investment of capital (“how”).

The conclusion is not at Excellence level — the candidate has suggested
that the long-term benefits will outweigh the short-term costs. However,
for Excellence we would expect the candidate to justify why one
outweighs the other.




The candidate provided some Excellence evidence, and therefore was
awarded E7. As a guide, for an Excellence conclusion:

¢ Does the conclusion repeat the general meaning of the positive or
negative impact (or only add to it)? This is not an Excellence
conclusion.

e Does the conclusion state that the positive impact is greater than
the negative, but does not say why? This is not an Excellence
(d) conclusion.

(cont’d) e Could the conclusion relate to any business context? If so, this is
probably not an Excellence answer.

e Does the conclusion state that the positive impact is greater than
the negative, and explains why? This would normally be an
Excellence conclusion.

An Excellence conclusion requires new information that demonstrates a
deeper understanding of the business and its context (in this case, a
small kiwi airline starting to do international travel).
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